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Quantitative Aptitude for RRB NTPC (Solutions)

S1. Ans.(c)
Sol.
Original New
Price — 100 90
Consum ption
s 1 ) —» 20 - 100
©——
| price )
— 9 - 10
(10-9)r=6.2ke
lr—+62kg
New guantity of sugar bought
=6.2x=10
=62 kg
Reduced price of sugar =837/62
=Rs.13.5
S2. Ans.(a)
Sol.
ATQ,
PpXx6x10 P ><12><10_F3><12><15_k
100 . 100 -~ 100
10k 10k 100k
Pl = _,Pz =_,P3 = =
6 i 180
10k 10k 10k
P]_: Fz H F3 = ' ) :
36 36 366 v 18 Complete Preparation for
=__.__._ RAILWAY Exams
6 12 18

RAILWAY

S3. Ans.(b)

" EXTREME
-4 1

Rate = 404 = Too 38

Let principle = (25)* = 625
Interest for 15 year = 625/25 = 25
Interest for 28 year = 625/25 + 25/25

Video Courses, Test Series,
eBooks
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=25+1

=26

Total C.I=25+26=051
51r — 2448

6251 — 625 x 48
= 30000 Rs.
[ = 30000 x4 X2

100
= 2400 Rs.

S4. Ans.(c)
Sol.
Using formula for 2 years

C.I—S.I=P(ﬁ)z

g \2
768 = F‘(—)
100

64
768 =P X
10000

P=120000 Rs.

S5. Ans.(c)
Sol.

Sum of m 5
-  —n
m

Sum of m = mn
Sum of n

2

=m2
n

Sum of n = nm?

Average of (m +n)
_ Sum of m + Sumofn

m + n
mn® + nm* mn(n+ m)
= = = mn
m+n m+n
S6. Ans.(d)
Sol. x = 24
150z 2
:”: 100 73
x Z
Y =110
3
Xx+y+z=330
2y +y+ 2y/3 =330
6y + 3v + 2y
¥ ¥ }:33[)
3
v =90

x=2y=2x90=180
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S7.Ans.(d)

Sol.

Sum of Ages of 30 students
=30=9

=270

Sum of Ages of 30 students & 1 teacher = 10 = 31

=310
Ages of teacher =310 - 270 =40

S8. Ans.(d)

Sol.

Average weight of All students
6504+ 2x514+2x55

10
300+ 102 + 110
B 10

_ 512

~ 10
=51.2ke

S9. Ans.(c)
Sol.

Let old average x
Average., = X
Sum.y = 24x
Sumaz + 10 = 24x
Sumsz; = 24x — 10
Sum,z + New boy
=x+2

24
24x - 10 years = 24 (x + 2 months)
24x - 10 years + New students
= 24x + 48 months
New student's age
=10 year + 48 months
=10 year + 4 years
=14 years

S10. Ans.(b)
Sol.

0ld volume = mr*h
New volume
=m(0.5r)% = (1.6) h
=mx025r°x1.6xh
= 0.4 ir*h

% decrease in volume

100

6 Months Subscription

RRB NTPC

KA MAHA PACK

Test Series, Live Classes,
Video Course, eBooks

Bilingual
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S11. Ans.(b)
Sol.
Let the number of 1 Rupee coin =x
Number of 50 paise coin = 4x
Number of 50 paise coin
= 2 ®x Number of 25 paise coin
4x = 2 » number of 25 paise coin
Number of 25 paise coin = 2x
ATQ
xx 100+ 50 x 4x + 25 = 2x = 5600
100x + 200x + 50x = 5600
350x = 5600

560
AT
x=16
No. of 50 paise coin= 16 = 4 = 64

S12. Ans.(d)

Sol.

0.54=06B=0.75C=k
4

= = =3

A—Ek.B—Sk,C 3]{
5 4

A:B:C=2k:§k:§k=6:5:4
(6+5+4)r— 1740
15r — 1740
1lr—+ 1186
Cwillget—= 116 % 4
= 464 Rs.

S13. Ans.(b)

Sol.
125
r = —1y
100°
X:y=5:4
~ 75
Y~ T00°
y:z=3:4
xyz=1512:16

S14. Ans.(b)

Sol.

P+Q+R=300
Q=P+30
R=Q+60=P+30+60=P+90
P+++30+P+90=300
3P=180

P=60

Q=60+30=90
R=60+90=150
P:Q:R=60:90:150
=2:3:5
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S15. Ans.(d)

Sol.
Alcohol : Water
[—= 2 : 1
II— 3 : 2
Alcohol in mixture
. 2 L 3
3 5
_10+9 19
15 15
Water in mixture
. 1 2
R
5+6
15
. 11
"~ 15
Alcohol : Water
. 19 11
- 15 15
=19:11
$16. Ans.(a)
Sol.
Workers = 26%%
_ B0 4 - decrease
3x 100 15 — Original
Old : New
Salary — 22 - 25
Workers — 15 - 11

0Dld Salary =22 = 15 =330
Workers =25 =11 =275

= =
04 decrease = vy 100

_ 30 16 ’ %%
3 3
S17. Ans.(c)
Sol.

Ratioofcoin=2:3:5
Let no. of coing are 2x, 3x & 5x
ATQ,
1 Bx
2x ® 1+3xxE+E:2ﬂ
20x + 15x + 5x = 200
x=5
No. of 50 paise coin=3 =% 5=15

12 Month Subscription

N

RAILWAYS

Useful for NTPC | Group D | ALP

TEST PACK
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$18. Ans.(a)

Sol. Let Average weight of Boys be x
Using Allegation

Girls Boys
62 X

66.5

x—66.5 33
4.5 27

X-66.5=55

x=72kg

$19. Ans.(c)
Sol.
116

=
100
58

:} —_—
50
29 - Final Number
25 - Original Number
(24 - 25)r — 32
4r — 32
lr—+ 8
Original No. =8 x 25 = 200

S20. Ans.(a)

Sol. ATQ,
(n-2) % 180 = 1800

n-2=10
n=12

S21. Ans.(d)
Sol.

I!:IJ 12 ——P

Let the radius be AB

Tangent and radius makes 90° angle at the intersection.
To find PA

Using Pythagoras theorem

In APBA

PA® = PB® + AB®

=127 + 5%

=144 + 25

PA% =169

PA=13cm
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S22. Ans.(a)
Sol.

Let the center is ‘0",

Using Pythagoras theorem
In AOBF

OB=5

FE=3

OF =+ 0B? — FB?
=+25—9
=416

=4 cm

In AQOED

OE=VOB? —ED?
— .152_42
=+25—16
=9

=3 cm
EF=0F-0E
=4cm-3cm
=1cm

S23. Ans.(a)
Sol.

~ PO = OA (Radius)

- ZPAQ = ZAPO (i) ——
In APOA

£POA + #PAO + £APO = 180° ﬁ’ ‘ﬁs @

120° + 2/ PAO = 180° {from (i)} ¥ {/
2s,PAO=180°-120°
2sPAO =60° : P

£PAO = 30° it T

£APB =90° [Angle formed by the diameter to the circumference is 907)

an RRB NTPC 4.0
£PAB + #APE + #PBA = 180° =
30°+90°+ £PBA=180° Starts April 9, 2020
£PBA=180°-120°

£PBA = /PB0O =60° m
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S24. Ans.(c)
Sol.

P

. ‘“!/B

According to rule.
PT* = PA.PB
52=4(x+4)

25 =4x + 16
25-16=4x
9=4x

x=9/4

S25. Ans.(c)

Sol. .
\a
o

As per the rule

PQ =2./(0,A)(AOD;) 01A & AO; be the radius.
=2v8 X4

=232

=2W2 X 16

=2x42

PQ =842

S26. Ans.(a)
Sol.

D b .ri. ammmma - Q

w £ACB = 90° (Angle subtended by the diameter at the circumference is 907).
In ACAB

£CAB + #ACB + #CBA = 180°

34°+90° + £CBA = 180"

£CBA =180°-90° - 34°

= 56°
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S27. Ans.(b)
Sol.

B
Since Radius and Tangent makes 90° with each other

therefore #PAO and £PBO =90°
In Quadrilateral PAOB

LA+ 20+ 2B+ £P =360°
90°+ 110°+ 90° + £P = 360°
290° + £P =360°

£P =360° - 290°

=70°

$28. Ans.(c)
Sol.

Let the center be O and Radius OB.
To find PA

0A=vVAB? 4+ 0B?

= [(sv3)" + 52
— V75525

=100
0A=10

S29. Ans.(a)
Sol.

£AOB=75°
£LADB = ﬁ [Center angle of a circle is twice the angle of the major arc]
i 2
= = 37.5°
2

AEBD is a cyclic quadrilateral then,
LE+ 2D =180°

£E + 37.5° = 180°

£ E=142.5"°
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S30. Ans.(b) A adda
Sol. h

% publications

£0  120°

— — 1800+
£ADB = ? 5 60° Hultiple Choice

Ouastions Detailed
[Center angle of a circle is twice the angle of the major arc] Py i?;:;:::‘
AEBD is a cyclic quadrilateral then, h—*

Biology

LAEEB + £ADB = 180°

ZAEB = 180° - 60°

£AEB = 120°

Required ratio = major angle : minor angle
=120":60°=2:1

“THE CRACKER”
GENERAL SCIENCE

Multiple Choice Questions Book
with Detailed Explanations

Usetul for RRE JE, RRE NTPC, S5C JE, 55C CGL & Other Exams

NE

FIRST EDITION

Includes
Previous Years
Questions
of all topics
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